STI4E6 A1 O FSEESH31IH E T
REFEEFEEIEAN BIX—5

(B H)
B AKA
| S EA
1.2t
ESBSREE 54, 000
Gl e = e ¢ 32, 000
BB 0 86, 000
2 HUE M
= B4 17, 500 17, 500
3. HBh A
= B B R Bh k4 0 0
4 FEINLE
ERISERE L S g 9, 600
NN EE o = 21, 000
FEB SR FEIAE 131, 200 161, 800
5.7 OIS
= OB 0
HMEN 0 0
IS A 265, 300
I %2 A
1. FEHE
(1) PSR D 2 O
MEE R 9, 789
B A 720 10, 509
2) RANYFEEIEDO L OIEE)
SEE VS 642
i SR 5, 400
[ S Il 2 1,584 7,626
3) BB SR D %A OILE)
MEEUE=¢ 26, 476
B A 2, 530
[ S5l 22 16, 845
SEIEE=¢ 5,125
M 0 50, 976
FEEE 69, 111
0GR
(1 N2 0 0
NG & 0
(2) ZFOfhfRE
E4 0
SEEES 6, 429
THAEAL 2 8, 154
i Gk = 2, 560
HEE 63, 966
Poie g 22, 800
[ S Il 2 3,726
FEHME 862
= O E 108, 497
EHEE 108, 497
252 R 177, 608
2 HA T A P AR 87, 692
FIT ATk 1 R B pE AR 301, 840
TR STk K L R A pE AR 389, 532

X OUHEEIIZOMOFEDOFEE L TWERA,




